The Mann - Whitney U Test
test of whether there is a significant difference between two sample sets of data (were they drawn from different populations or sub populations)
non-parametric

H0:  the two samples are taken from a common population.

The  following two equations (Ux and Uy) are used to calculate a U score.

Ux  =  nxny +  nx(nx + 1)   -   (rx
                            2

Uy  =  nxny +  ny(ny + 1)   -   (ry
                            2
where:
rx and ry are the sum of the ranking of variables x and  y

nx  and ny are the number of individuals in sample x and sample y

Using the U statistic:
for H1:  X  does not equal Y, the smaller of Ux and Uy.  (two tailed test)

-one-tailed tests are seldom appropriate.  If one knows for certain that a certain directional relationship exists, then what is the purpose of conducting the test?

